- witributions to tic Climatology of British North America.
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In Table III. the final columns headed  Year » contain the averages (for three cr more years) gf

the absolutely highest and lowest temperatures in the year, without reference to the months of ther

- ncearrence, which need not necessarily be July and January, Of all the stations Hamilton shows the

! est maximum and Pembroke the lowest minimum, while on the other hand Goderich bas the
vest maximum and the Aig4est minimum,

TabBLe IIIL.
Mrans of the absolutely Highest Temperatures in each Mounth and Year :—
No. A TR N 5 s i
of | glslglB |ste|Slala]|las]ls] gl ver
Years.,‘_‘,;f.sé'ﬁf,.—’,idgsza
. e} o o o o o
Barrie ..oocoiiiiiiiieaannn 3 4:0'3‘49'654‘8710375@8;"3? u‘_ ::.780-062 £146-6{ 91°8
Belleville . - 4 40'8I41'S 48'268'4:76'483'3 s 5/70°3!55°¢|45°2]| 91 3
Goderich.. 3 [437244°4]53" 4{69 1749|383 2}35" 4! 969'61‘60‘5 452! 87°2
Hamilton 4 47'0150'8 33°8&72°8 80°2.90°8f57- 9797176243274 99°2
Pembroke... . 3 38'2|43'4 57°2|67°2'85°7185"; '1{72'453 7731923
Peterborough 3 139°5142°2{50°0(67 577" 7/87°( ‘0l72°4|56°7 442} 929
Simcoe ...... 3 {44°1(51°0d57.2170°7,78" 4186 7174 2160°:116°6{ g2°0
Stratford. s 5 39°3l42°€¢[51°1 67'3i75‘1 82°- 9 5{63°6l55°]16°5] 837
' Windsor«...oovianns ceeeenel 3145735475076 74'ol78'5 38", *3177°2(63 {}48°3} 94°7
Means of the absolutely Lowest Temperatures in each Month and Vear :
No. ﬁ . 3 - . . o %
of g 4 E(E|Rle(HtoEals] B g | Year,
o = a =l o
Jrems! S 1 @12 |2 |2|3121818| 2| A
. o o o :| o o | o o ol oo [ L) [ °
Barrie . .. 3 f—19°gl—15"3— 3'8\17'o|25'e35'z 46°241°533°3/24°3] 8-ol—14°2]—27°4
Belleville. 4 1321131 — 4'7119'0,29'642'1 50'5/43°433°9.22°8} 11°&%—10'8 —15'9
Goderich 3 ' 37 Ij— 1°420°0/24°6(38°7'47° 81456 36°H{27°5] 162 0'4!— 89
Hamilton . 4 4 |— 96— 55— 7'0117'1 27°2{34°6M6 1|42 1 31°8|20°8] 11°G{— 3'8E—x4'1
Pembroke........ 3 |{—30°6]—28"3—~28- 4] 6721 6{34°3|43 1|37 3 28" 2{15° 27— 1°2)—22'0 —34"5
Peterborough .. .. 3 |[—18'g]—15"6]—16"0l13°7|24"4/37 5,43 7(3% 0 29"0|15 oj 3'?;-—-:6'91——2;‘0*
Swratford..... ... 5 |~ 9°3j— 8°7]— 6818 227°8{36°543'8|38-830°R 22"3} 13 1—3'8‘——16'3
Windsor .......ee] 3 |— 8°71— 6°7]— 2°2|19°5{32"5 4274/50" 1 484 34'5"22'2] 12°8 0’7145

il s
The absolute annual ranges, or the differences between the highest and lowest readings in ‘f‘able
I11., have an average value of 111%'s. At Pembroke the range is greatest (126°°8Yyand at Goderich it
is least (96°'r). It appears. then, that Goderich, with reference to the enmwal period, has a
terrporatire, in every point of view, more equable than that of any other of these stations.

TasLe IV.
AprproxiMaTE Mean Diurnal Inequalities or Variations of Temperature, being the Differences of the |
Monthly Mean Temperatures at 7 A.M, 1 P.M., and g P.M., above or below the Monthly Means for
these three hours combined.
Baryie (3 yvears.)

Hour. Jan. | Feb. | Mar. | April.| May. { June. | July. Aug.lSept. Oct. | Nov. | Dec, | Year
@ o o ° o ° o ° o o o @ o

7 AM. ...|~2.9 |—4.2 |~3.8 | ~4.0 |[—2.6 | —2.8 }—3.6 |—3.5 |—3.5 |—3.6 |—3.0 |—=2.5 }—3.3 |

1ot st Hhser (Hseg 1 86.3 (b7 j 459 159 [16.3 [Hye0 [16.2 (3.4 [+3-2 |54

9 P.M. .../~1.2 {—1.0 |—1.6 |—2.4 |—3.1 {—3.2 |—2.3 {—2.7 |—3.5 |—=2.6 |—1.0 |~0.7 |—2.x

Belleville (4 years.)

7 AM. . ~3.7 |—4-2 |—4-1 |~4.3[~3.8 |-3.3{=3.6 |—4.0)—4.0 |-4.9]—-3.4 |—3.2 ]—3.9

I P.M. --%“3-5 —+3 4l+4~1 +5.4 {+5.2 [4+35.5 [+5.6 H5-8 5.9 45.9 |43-4 [+3.0 [+4.7

9 P.M. ...{40.2 {40.8 | 0.0 {—1.1 |—1.5|{—2.3 |—2.0{-1.9 [—1.§ |~1.0] 0.0 |40.1 |—0.9

Goderich {3 years.,

7 AM. .. 1.7 [—2.2 [~3.2 |[—1.Q |~ 2{~-1.4 |—1.7 |—1.7 |~—2.4 |—2.7 |—1.5 [~1.§ |—1.9

1 P.M. .. t1e5 2.2 (2.9 [42.8 (421 |28 [+3.2 a3 \-{—4.1 +3.6 |-+2.1 {+1.8 |+2.8

9eM. ...1Ho.1 | 0.0|f0.3}|~0.9{-0.8|—1.31—1.4|—2.5 1.6 [-0.8 |—0.5 {—0.4 |—0.8

Hamiiton (4 years.)

7 AM. ...}—2.5 |~3.8 ]—3.8 |—-3.3}-2.8]—3.0]—4.4|—4.9 |—4.5 |}~5.-4 }~3.5 |—3.0/—3.8

e . 43.6 [4+3.9 (445 [+5.7 (+s.3 [+6.7 [+7.8 [+8.2 |4+7.7 +7.8 [+4.7 |+3.4+s5.8

g Pt .. l—1.0 o |—0.6 |—2.4 |-2.6 |-3 6 |—3.3|~3.3 |—3-2 |—2.3 |—1.2 |—0.4]—2.0
% Pembroke (3 years,} .

7 AM. ...|—4.8|=6.2|—7.3|—4.7 |—4.5|~4.5]|-5-2[-4.1[—4.8 |=5.0 |=2.7 }—3.7 |—4.
| e 3.9 |50 |45 7 (+s.2 (+5.3 |[+5-5 [+5.7 |+5-2 [+5.4 | +5.0 21 [ 43.0 4.8
! 9rM. ...}+0.9 [+1.3 [+1.5 |-0.51—0.8 {—=1.0 |~0.5{-1.1 |-0.7 |—0.1 |{0.7 {40.7 | 0.0
i Peterborough ' 3 years.) . .

7 AM. ... -5 -4-2|~3.7 |36 |41 ]—4.7|-5.2|-5.8 |—3.3 |—3.8 4.5
‘ IPM. .. -6 +6.2 |4-6.1 [+7.5 1+8.0 [+8.4 |8 5 |+7.8 I-+4 2 442 {4+6-5
9P, . .0 —2.0 |—2.5 |-3 81—3.8|-3.7{-3.4 —1.9]—09 —0.4 |—2.0
i Simcoe (3 years.) .

L7 AM. ... —4.0 |—3.3 | -4-4|~-4.7 |—5-0 |—4-4 |—5.0 {—2.6 |—-2.5 }—4.0
boxrom. +6.3 |46.3 [+7-1 |[+7.7 [+7-6 |+7.2 |[+6.9 |4+4 5 |3 3 [+5.8
j 9P.M. ... -2.3 [—3.1 [~2.6 |—3.1 [—2.6 [—2.9 |—1.9 {—1.9 [~0.8 |—1.8 i




